Use this Quadratic Function f(x) = 2x? - 3x+ ¢

This quadratic passes through the point (-1,13)
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You can now finish Hwk #17.

Use the sheet I've printed out.

Find c.

Find the quadratic function y = ax® + ¢ that
passes through the given points:

(2,-9) and (-3, -34)
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Describe the transformations this Absolute Value
function represents compared to the parent function.
y=-2|x-1| +3
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y = a’x — h’ + k When a graph is flipped upside down

a = Vertical Stretch/Shrink Factor itis also known as an
?;o ” a<0 a>1 O<a<1
open n . o
ao Mo Mlec sharlec x-axis Reflection y=alx—h|+k
h: Horizontal Translation A graph is flipped over
Vertex: the x-axis when a < 0
(h,k)

k: Vertical Translation

When a graph is flipped backwards Ingenersl e lunelion Y= 1(x)
it i | k is transformed the following way:
it is also known as a y=af0c-h) + k

: . We won't do a y-axis reflection T ——
-axis Reflection : P :
y ?unn/;?;?sl,mm&’? or Quadratic * Streched/Shrunk vertically by a factor of a

o Reflected over x-axis if a<0
Botn 6?— +these <3 mq)lq_g ¢ Translated horizontally h units.
Mo OKQ/U“’U;%_ ngmﬁnw e Translated vertically k units.
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Use the graph of the parent function y = /x shown below to graphy =2 J/x+3 -5
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y=alx—h)*+k

a = Vertical Stretch/Shrink Factor
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h: Horizontal Translation
Vertex:
(h,k)

k: Vertical Translation

Section 5-3:
Transforming Parabolas

y=ax’+bx+c
Standard Form of a Quadratic Function

y=alx—-h)*+k

Vertex Form of a Quadratic Function




Describe the transformations shown in the equation and Graph thls quadratlc using five points

identify the vertex and the y-intercept of this quadratic: y = -3(x (+ 2)2 " 77“17
y=-3(x+22+7 Veadep (£2,7)
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Graph this quadratic using five points
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